1.
How much money should be invested today at 5 percent compounded continuously so that 10 years from now it will be worth $10,000?



(A)  $6,065.31    (B)  $6,082.41    (C)  $6,083.43    (D)  $6,091.01

2.
Solve for x: 
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3.
The equation of the tangent line to 
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(A)  
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4.
Find 
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(A)  
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5.
Find the intervals of increase and decrease for 
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(A)
Increasing on x  –2  and x  3 , decreasing on  – 2  x  3


(B)
Increasing on x < –3 and x > 2, decreasing on –3 < x < 2


(C)
Increasing on –3 < x < 2, decreasing on x < –3  and x > 2


(D)
Increasing on x < –2, decreasing on x > 3

6.
Find all the critical numbers of the function 
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(A)  None    (B)  –2, 2    (C)  0, –2, 2    (D)  
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7.
Determine where the graph of 
[image: image19.wmf]32

()374

fxxxx

=-++

  is concave down.



(A)  For x < 1    (B)  For x > 1    (C)  For x < –1    (D)  For x > –1

8.
The cost of producing x units of a certain commodity is 
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  dollars. If the price is p(x) = (34 – x)  dollars per unit, determine the level of production that maximizes profit.



(A)  x = 1    (B)  x = 2    (C)  x = 3    (D)  x = 5

9.
If the total cost of manufacturing a commodity is 
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  dollars when x units are produced, for what value of x is the average cost the least?



(A)  37    (B)  38    (C)  39    (D)  40

10.
Differentiate: 
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    (B)  0    (C)  9    (D)  
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11.
If the position of an object moving along a straight line is given by 
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  at time t, find the object's velocity as a function of time.


(A)
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12.
Differentiate 
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(A)  
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13.
Find 
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(A)
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14.
Find 
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(A)
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15.
An equation for the tangent line to the curve 
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  at the point where x = 1 is:



(A)  y = 9x – 8    (B)  y = 9x    (C)  y = 2x + 1    (D)  y = 9x – 1

16.
What is the rate of change of 
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  with respect to t when t = 32?



(A)  
[image: image47.wmf]1

37

    (B)  
[image: image48.wmf]1

37

-

    (C)  37    (D)  –37

17.
Find the points of intersection (if any) of the given pair of curves.





[image: image49.wmf]2
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  and y = 3x – 2.



(A)  (0,0)    (B)  There are no points of intersection.    (C)  (2, 4)    (D)  (1, 1), (2, 4)

18.
A company makes a certain product for $4 each and sells it for $8. If the company has overhead expenses of $10,000 per year, how many of its products must be made and sold to break even?



(A)  10,000    (B)  20,000    (C)  40,000    (D)  2,500

19.
Find the limit: 
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(A)  Does not exist    (B)  4    (C)  
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20.
List all the values of x for which the given function is not continuous. 
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(A)  x = 0    (B)  x = 4    (C)  x = ±4    (D)  The function is continuous for all values of x.
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